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FAO declines all responsibility for errors or deficiencies in the database or
software or in the documentation accompanying it, for program maintenance and
upgrading as well as for any damage that may arise from them. FAO also declines
any responsibility for updating the data and assumes no responsibility for errors
and omissions in the data provided. Users are, however, kindly asked to report any
errors or deficiencies in this product to FAO.
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rm(list = Is())
library(xIsx)

options(stringsAsFactors = FALSE)
rootdir <- "C:/Users/Rashed/Desktop/Atlas/"

setwd(rootdir)

df_acc <- read.csv("'Accuracy/Accuracy_assessment LC BD 2015 aggre.csv')
head(df_acc)

df_class <- read.csv("'Accuracy/NLCL.csv'")

head(df_class)

length(unique(df_acc$map_code))
length(unique(df_acc$GE_Class_V2))

length(unique(df_class$Agg Code))
sum(unique(df_class$Agg_Code) %in% unique(df_acc$GE_Class_V2)) == length(unique(df_acc$GE_Class_V2)’
sum(unique(df_class$Agg_Code) %in% unique(df_acc$map_code)) == length(unique(df_acc$map_code))

dbf <- merge(x = df_acc,y = df _class[,c("Levell","Level2", "Level3","Level4", "Level5", " "Level6","Agg.
by.x = "map_code", by.y = "Agg Code™, all.x = T)

dbf <- merge(x = dbf,y = df _class[,c("Levell”,"Level2", "Level3","Level4", "Level5","Level6",""Agg_Col
by.x = "GE_Class V2", by.y = "Agg Code", all.x = T)

nrow(dbf)
head(dbT)

for (1 in 1:5){
dbf[,paste0('L",1," _Acc'™)] <- ifelse(dbf[,paste0("'Level™,i,".x")]==dbf[,paste0(*'Level™,i1,".y'")],1

# dbf$L1_Acc <- ifelse(dbf$Levell. x==dbf$Levell.y,1,0)
# dbf$L2_Acc <- ifelse(dbf$Level2.x==dbf$Level2.y,1,0)
# dbf$L3_Acc <- ifelse(dbf$Level3.x==dbf$Level3.y,1,0)
# dbf$L4_Acc <- ifelse(dbf$Leveld . x==dbf$Leveld.y,1,0)
# dbf$L5_Acc <- ifelse(dbf$Level5.x==dbf$Level5.y,1,0)

Class_n <- list()
Acc <- list()

for (i in 1:5){
Class_n[i] <- length(unique(dbf[,paste0("Level™,i,".x'")]))
Acc[i] <- 100*sum(dbf[,pasteO('L",i," Acc'")])/nrow(dbf)

}
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Acc_level <- cbhind(Class_n,Acc)
plot(Acc_level)

write.csv(dbf,"Accuracy/Hierachy accuracy.csv')



